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1 |dtiE
2 |[EHRE 2.0E+3 2,000.0 2,000.0
3 |BEFE 5.8E+5 580,000.0 580,000.0
4 |EHE 2.9E+0 2.9 2.3E+4 23,000.0 23,002.9
5 |#EE 2.1E+2 210.6 1.4E+4 14,402.6 14,613.2
6 IR 1.6E+4 16,000.0 16,000.0
7 |fRBE 1.7E+0 1.7 1.4E+4 13,653.0 13,654.7
8 |ZWE 2.8E+5 277,880.0 277,880.0
9 [WHARE 3.0E+1 30.0 90E-1| 15E+4 14,800.9 14,830.9
10 [HER 2.5E+0 25 2.3E+3 2,300.0 2,302.5
REEET! 24E+3| 1.8E+5 179,408.7 179,408.7
12 |FER 8.9E+4 89,209.2 89,209.2
13 |HREER 1.0E-1| 15E+5 154,800.1 154,800.1
14 |[#E)E 1.6E+4 15,600.0 15,600.0
15 |FiRk 47E+5 465,331.0 465,331.0
16 |EWE 4.3E+1 43.0 1.8E+3 1,800.0 1,843.0
17 |RINE 2.8E+0 2.8 2.8E+3 2,810.0 28128
18 |BHE
19 [ILEE 6.7E+2 670.0 1.2E+3 1,200.0 1,870.0
20 |RBFR 9.1E+0 9.1 2.6E+1| 9.8E+4 98,226.0 98,235.1
21 KRR 1.9E+5 190,483.0 190,483.0
22 |EEEIR 5.1E+3 5,100.0 50E+3 5,007.0 10,107.0
23 |BHIR 20E+0| 5.0E+2 500.0 8.1E+4 81,401.1 81,901.1
24 |=ZER 7.2E+5 720,058.1 720,058.1
25 |#HER 3.0E+1| 5.6E+3 5,629.7 5,629.7
26 |REAT 43E+2| 2.0E+5 200,430.0 200,430.0
27 | KBRAF 2.0E+0| 2.3E+5 230,653.3 230,653.3
28 |EER 5.0E+0 5.0 2.1E+0| 4.1E+5 413,933.1 413,938.1
29 |ERR 1.3E+5 130,000.0 130,000.0
30 |FNFLE 4.4E+4 44,000.0 44,000.0
31 |BHRE
32 |BRE
33 |[ELE 1.0E+0 1.0 2.0E+2 200.0 201.0
34 |[EER 1.4E+4 13,500.0 13,500.0
35 |WAg 2.5E+3 2,500.0 2,500.0
36 |fESR 4.0E+0 40 9.9E+0 9.9 13.9
37 |BIIR 9.0E-1 0.9 0.9
38 |BIRER
39 |EER
40 |fERR 55E+0| 7.0E-1 6.2 1.4E+5 142,250.0 142,256.2
41 [EER
42 |RIGR 1.8E+3 1,800.0 1,800.0
43 |RERR 3.9E+6| 3,940,000.0 3,940,000.0
44 | KHR 1.6E+1 16.0 16.0
45 |BIBR 55E+0| 1.1E+3 1,105.5 1,105.5
46 |EEER
47 |[HiER
£ H 24E+2| 6.4E+3 6,604.8 3.1E+3| 8.1E+6| 8,075,383.1 8,081,987.9
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